SAE Flanges aviT

Closed Flanges

- Bolts, washers and o-rings are not included
and must be purchased separately
Please see page 211

Tech Sheet
1625

90° Threaded Flanges

«+ Bolts, washers and o-rings are not included
and must be purchased separately
Please see page 211

Tech Sheet
1628

3000 psi
AFC080 12" M8 x 30 1675 ) 4]
AFC100 3/4" M10x 35 2295 | 3000 psi, BSPP =
AFC102 H M10x 35 22.95 = =)
olt Bolt [¢o]
AFC104 1.1/4" M10 x 40 28.20 . @ Type @ o
AFC106 1.1/2" M12 x 45 31.10 Metric NC g
AFC108 2" M12 x 45 3485 | AFS080/90G-038 1/2" 3/8" M8x30  5/16"x1.1/4" 4935 T
AFC110 21/2" M12x 45 2990 | AFS100/90G 3/4" 3/4°  M10x35  3/8"x1.1/2" 5525
AFC112 3" M16 x 50 6245 | AFS102/90G H H M10x35  3/8"x1.1/2" 83.70 —
AFC114 3.1/2" M16 x 50 66.85 | AFS104/90G 1.1/4" 11/4"  M10x35  3/8"x1.1/2" 72.30
AFC116 4 M16 x 50 7260 | AFS106/90G 1.1/2" 112" M12x45  1/2"x 1.3/4" 99.25
AFC118 5" M16 x 50 13775 | AFS/90G 2 2" M12x45  1/2"x 1.3/4" 112.00 :
Hydraulics
6000 pSI . Hydraulic
6000 p5|: BSPP Q)L/n'ck Release
0 Couplings
. @ . @ B%Ié @ Pneumatic
AFC401 M8 x 30 21.40 vitric i Quickfease
AFC402 M10x35 2930 | AFS401/90G-038 12" 3/8" M8x30  5/16"x1.1/4" 5315 | e
AFC403 M12x 45 3280 | AFS401/90G-012 12" 12" M8x30  5/16"x 1.1/4" 5315 | Arve.
AFC404 M14x 45 31.05 | AFS402/90G 3/4" 3/4°  M10x35  3/8"x1.1/2" 83.70 | b
AFC405 M16 x 50 4690 | AFS403/90G H H M12x45  7/16"x 1.3/4" 98.40
AFC406 M20 x 65 5885 | AFS405/90G 1.1/2" 11/2°  M16x50  5/8"x2" 114.00 | e
AFC407 M24 x 80 189.35 | AFS406/90G 2" 2" M20x 110 - 34200 | Prevmatics

Pneumatic

. &Vacuum

Split Flange Half - ' o Eosghen
P Code Information: AFS = Flange with O-Ring Groove —

« Bolts, washers and o-rings are not included and o GFS = Flange with Flat Face Valves
must be purchased separately =
Please see page 211

- Ring Main
« Pri Systs
Tech Sheet Price per half clamp ystems
26 Adaptors
&Fittings
3000 psi
Bolt Bolt s
Flange I I teel
g =
FH3001 1/2" M8 x 25 5/16"x 1.1/4" 440 Halleable
FH3002 3/4" M10x 30 3/8"x 1.1/4" 6.05 You m|ght also need...
FH3003 7" M10x 30 3/8"x 1.1/4" 6.75 Hose,
FH3004 1.1/4" M10x 35 7/16"x 1.1/2" 8.85 Tubing &
Coupl
FH3005 112" M12x35 172" x1.1/2" 10.60 SAE 3000 PSI and | s
FH3006 2" M12x35 1/2"x1.1/2" 1430 . Clamps
FH3007 2.1/2" M12 x 40 1/2"x1.1/2" 23.30 SAE 6000 PS| Hyd raullc &(lips
FH3011 5" M16 x 50 5/8"x2" 80.20 EE—
. Hose Connectors spost.
6000 psi
Blow Guns,
Bolt Bolt "
Vacuum &
FH6001 M8 x 30 5/16"x 1.1/4" 4.40 Presure Wsh
FH6002 M10x 35 3/8"x1.1/2" 7.20 Lubrication
FH6003 M12x 45 - 9.20 -
FH6013 - 7/16"x 1.1/4" 7.30 pollcei
FH6004 M14 x50 - 13.95 Equipment
FH6044 - 1/2"x1.3/4" 10.10 o
FH6005 M16x 55 5/8"x2" 24.45 Hardware
FH6006 M20 x 65 3/4"x2.1/2" 26.55 &Pee

HYDRAQUIP 205

HOSEEAHYDRAULICS
www.hydraquip.co.uk



